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Immediately after the commencement of the examination, candidate should check that this
Question Booklet does not have any unprinted or torn or missing pages or items, etc. If so, get it
replaced by a proper Question Booklet.
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The question paper is in the form of a Question Booklet with 80 questions. Questions are of
objective type with four answers indicated, of which only one is unambiguously carrect.
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Use only Ball Point Pen (Black or Blue) for writing/ bubbling on OMR sheet. Enter all required
details and select the right answer by marking the corresponding oval on the OMR sheet as per
the instructions given in the OMR sheet.
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Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is mandatory to be
written on the OMR sheet in the box and bubble appropriately. Failing which, the answer sheet
will not be evaluated.
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Each correct answer will carry three (+3) marks; Zero (0) for no answer and minus one (-1)
for a wrong answer.
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Multiple answers for a question will be regarded as a wrong answer.
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Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.
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Computers, Calculators, mobile phones, reference books, logarithm table, electronic gadgets etc.
will not be allowed inside the Examination Hall.
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Space available in the Question Booklet can be used for rough work, if required. No separate
sheet will be provided.
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Candidate are not permitted to leave the Examination Hall during the first one hour of the
examination.,
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Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket (ii) Original
OMR sheet (copy of the OMR sheet to be retained by the candidate).
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A Field: Computer Science Post Code: 23 i |iave
1. AR B s & AT FHIH T & [T o7 a7 g

[A] 81O freiar

[B] wgad fveRan

C] sig-#eifehe foratear
[D] 3udaa # & #$ ¢t

2. farfafaa & & sia-ar s &y yegadt ey ad &2

[A] @Tsera
[B] 3Nt
[C] 3mduATy
[D] Fferhrs
3.  ffeaRtfRa # & #la-ur dcad urguensiT gam@ @ g & §7
[A] uféhe-fEaes seas
[B] ST -feaes wead
[C] Yhe-Raes Acas
[D] 3uderd & & #1§ oTgh
R - J—— & faw dsfasy # gefr & §
[A] FDM
[B] TDM
[C] CDM

[D] 35dad & & &5 ¢

5. §dR AR ... BIH BT 8]
[A] Swree] fafegor 41
(B] wRs fafeor g
[C] X-Taeur g
(D] W fator oy
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Field: Computer Science Post Code: 23 A

1 4NF is designed to cope with :
[A] Transitive dependency
[B] Joint dependency
[C] Multi-valued dependency
[D] None of these

3 Which one of the following is not a valid relational database?
[A] SYBASE
[B] ORACLE
[C]IMS
[D] UNIFY

3. Which of the following networks supports pipelining effect?
[A] Circuit-switched networks
[B] Message-switched networks
[C] Packet-switched networks
[D] None of these

4, Guard bands increase the bandwidth for
[A] FDM
[(B] TDM
[C] CDM
[D] None of these

5. A wireless mouse works on
[A] Infrablue radiation
[B] Infrared radiation
(C] X-rays
[D) UV rays

| _ o _
' 3 December, 2016
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A Field: Computer Science Post Code: 23 SR ‘:E"”

6. farfafaa & & fod ~prae Rega @da aidr &7
[A] TTL
[B] CMOS
[C] DTL
[D] RTL

7. el AT & 3TN HT 3632 BT
[A] 9I&d Selacifaih Gfqer &l & &
[B] Yed §foidst &ridharg &1 AT el
[C] gfermer Hffcafed & e & =erasT a5
[Dlaferaet sifeafea 7 ot &l 3®eaa &

8. AR &l JiHegad A & AU Baa vy foe 67 smaegsar aidr &2
[A] 10 faew
(B] 12 faew
[C] 14 foca
[D] 16 Tacw

9.  uwvants Ru 7474 gk &
[A] 33701 U feor8 o1 foera-waiia (TTL)
[B] s37er UsT fears &1 fFera-wraiiy (CMOS)
[C] 331 U 2918 &Y TForg-ueila (TTL)
[D] 831 U f2o78 9% fFard-wald (CMOS)

10. -8 WIE+3 TN HEAT & HHGET giar &
[A] 10001000
[B] 00001000
[C] 10000000
[D] 11000000

(Technical Assistant 4 December, 2016
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10.

Which of following consume minimum power?

[A] TTL
(B] CMOS
[C] DTL
[D] RTL

Karnaugh map is used for the purpose of

[A] Reducing the electronic circuits used
[B] To map the given Boolean logic function
[C] To minimize the terms in a Boolean expression

[D] To maximize the terms of a given a Boolean expression

How many address bits are required to represent a 32 K memory?
[A] 10 bits
[B] 12 bits
[C] 14 bits
[D] 16 bits

The MSI chip 7474 is:
[A] Dual edge triggered JK flip-flop (TTL)
[B] Dual edge triggered D flip-flop (CMOS)
[C) Dual edge triggered D flip-flop (TTL)
[D] Dual edge triggered JK flip-flop (CMOS)

-8 is equal to signed binary number
[A] 10001000
[B] 00001000
[C] 10000000
[D] 11000000

Technical Assistant b December, 2016 ‘}
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12,

13

14,

18.

A & & Her-ar geica ad &7
[A] TTL
[B] ECL
[C] CMOS
(D] LSI

YSCRIACd TEIT ‘AQ’ & FHGE] EAHcd HlT ¢
[A] 80
[B] 256
[C] 100
[D] 160

Ul &Y 89 caseminin &, @ NAND 3¢ 3m3eqe a1 g

f3tiee segael &
[A] & F1E aF 78T 81T &
[B] 1 Reat a3y a4t gie €
[C] T gram & fn &8 Rest ersu a8 gar &
[D] & &% g &

Ted 4T & ................ 0 &gl S Haar B
INRCIEGEURE [
[B] worar fae
(C] wrget fore
[D] 3t=dTg5 fae

Technical Assistant 6 December, 2016 }
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Field: Computer Science Post Code: 23 A

11.  Which of the following is the fastest logic?
[A]TTL
(B] ECL
[C] CMOS
D] LSI

12 The hexadecimal number ‘A0’ has the decimal value equivalent to
[A] 80
[B] 256
[C] 100
[D] 160

13.  The NAND gate output will be low if the two inputs are
[A] 00
(B] 01
[C] 10
D] 11

14. A default constructor
[A] has no arguments
[B] has no return type
[C] has one argument but no return type

[D] has two arguments

15.  Status bit is also called
[A] Binary bit
[B] Flag bit
[C] Sign Bit
[D] Unsigned bit

| Technical Assistant T December, 2016 }
e
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=

16.

T

18,

19.

20,

Uss faT e &l TR &l gt IRUY &) &gl Sar §
[A] TsThlET
[B] 3 1T
(O RECEETIES
[D] fsaprsY

AD aRad®, o uRads @ faew @1 gear @ TadT glar &
[A] 33T T@T
[B] @3¢ e2Y

[C] THATR 9Rad=

[D] 3regshiie Afemeee

gishfea et RiecH &, oifoe e 1 gofan &
[A] Gishfea aeest

[B] 3TTcR dlecsl R
[C] 2 dlesl R
[D] @FTaT aledst &)

UF INRRET qetrfd & gurerary &l seald & & fov P & @
ferer hras & e R Sran & 2

[A] afea
B] 7
[C] Fw

[D] B

.
Bl

-

I
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16.

17.

18.

19.

20.
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The circuit used to store one bit of data is known as
[A] Encoder
[B] OR Gate
[C] Flipflop
[D] Decoder

The A/D converter whose conversion time is independent of the number of bits is:
[A] Dual slope
[B] Counter type
(C] Parallel conversion

[D] Successive approximation

In a positive logic system, logic state 1 corresponds to
[A] Positive voltage
[B] Higher voltage level
[C] Zero voltage level

[D] Lower voltage level

Java programs are
[A] Platform Dependent
[B] Interpreter Dependent
[C] Platform Independent
(D] Interpreter Independent

Which of the following keyword is used to invoke superclass of an overridden
method?

[A] Native

[B] New

[C] Super

[D] Static
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A Field: Computer Science Post Code: 23 2l lisra

21. Hled-a1 e v TRl Boger i sone FE ariar €2
(A] 12,16,20
(B] 9,56
[C] 6,10,8
[D] 15,25,20

22.  330° T3l vt &y I3t F wUTEROT .. gra|

[B] /6
[C] 11m/6
D] 2n/6

23. 3SR gd (§rdgd) 1 Ichadr &
[A] >1
[B] <1
[C] O
[D] 79 & =I5 e

24, Gar YA & RS Heslde HAE T o TFAT B Tg [RSear dgardr ¥
[A] UEECERIT
[B] ureNATthsH
[C] WerehtEgAerst
[D] 3egliee

25. fawrfof@a & @ sl9-a1 'C & vs 3R S Foag B g 2
(A] 3iTeY
[B] 3=
[C] e
[D] veFmeeT

‘ Technical Assistant 10 December, Zﬂlq
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Field: Computer Science

Post Code: 23 A

21.  Which set does not represent the sides of a right angled triangle?

[A] 12,16,20
[B]9,5,6
(C]6,10,8
(D] 15,25,20

22 Transform of 330° angle in degree measures to that in radian measures will be

[A] 21
(B] 11/6
[C) 11m/6
[D] 211/6

23. Eccentricity of ellipse is:
[A] >1
(B) <1
(C]0
[D] None

94, |n Java programming an object can take many forms. This feature called

[A] Abstraction
[B] Polymorphism
[C] Encapsulation

[D] Inheritance

25 Which of the following is not a proper storage class in ‘C'7

[A] auto
[B] dec
[C] static

[D] extern

[ Technical Assistant 11
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26.  malloc() @ calloc() ST Gaele & WAl & AU Thd &3¢ Wigel &) ifdel

27,

28.

29.

30.

fopar Srer arfge ?
[A] memory.h
(B] stdlib.h
[C] string.h
[D] dos.h

[A] Fell3E
[B] sael

[C] &ieT BereT
[D] quifer

frfafaa & & frger 39 SRR & §9 & 781 fFar o gear 72
[A] Letters
(B] Digits
[C] underscores
(D] Spaces

Al YHITH Jellel & Tl aXull 1 Hel el Ugdav
[A] for, W3, F13, Fuge vd vasfiage
[B] ®Is, @wursel, il Ueslierde Ud o5
[C] #13, &ursel, foleh, Wis Ud Udollage
[D] @urgel, #is, fole, &g vd varsharge

fordll TaTer &7 gor @Yl & AU AW I wUT-ET-EROT HARW Tl &
[A] segws
[B] #werifafey
| B
[D] aefiepe

Technical Assistant 12 December, 2016




INDIAN SPACE RESEARCH ORGANISATION

Post Code: 23

Field: Computer Science

26.  \Which header file should be included to use function like malloc() and calloc()?

[A] memory.h
[B] stdlib.h
[C] string.h
[D] dos.h

27. By default a real number is treated as a
[A] float
(B] double
[C] long double
[D] integer

28, Which of the following cannot be used as identifiers?
[A] Letters
[B] Digits
[C] underscores

(D] Spaces

29.  |dentify the correct sequence of steps to run a program
[A]link, load, code, compile and execute
[B] code, compile, link, execute and load
[C] code, compile, link, load and execute

(D] compile, code, link, load and execute

30.  Step-by-step instructions written to solve any problem is called
[A] Pseudocode
(B] Algorithm
[C] Assembler
(D] Class

( Technical Assistant 13 December, 2016 j
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.‘f.r

31,

32,

33.

34.

Post Code: 23 ;.‘:QH‘TI;‘SIF{K

O, aqarER e F6 370 gt & A & 38 s & gaiia

A AT JTEAFE oo FHEelTdl &

[C] aor
[D] 3uded & & 1§ ol

rfafaa s @ 3M3CYe glar
Main ()
{
int a =(1,2,9,8,6,3,5,7,8,9};
int «p=a+1;
int *g=a+6;
printf(\n%d”, q-p);
}
(Al 9
(B] 5
[C] 2
(D) 35Rerer 3 & HE gt

[A] 3aTe
[B] ~Tr#
[C] crgAR
[D] T#g

frifef@a & T odd one ggaraw
DEE=RERS
[B] TFeT Fhe! f3¥cal
[C] shelraniteer f3Tcer
[D] ¥l wsfear Beeer

Technical Assistant 14
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Post Code: 23 ~ A

31.  The object refers to the 3D representation through linear, circular or some other
representation are called
[A] Quadric surface
[B] Sweep representation
(C] Torus

[D] None of above

32.  Output of the following program will be
Main ()
{
inta={1,2,9.86,3,5,7,8,9},
int *p=a+1;
int *q=a+6,
printf("\n%d", q-p);
}
(A9
[B]S
(C]2

[D] none of these

33.  The important property of a timer control 18 ansmemes
[A] interval
[B] name
[C] timer
(D] time

34. |dentify the odd one out from the following.
[A] Vector display
[B] Raster scan display
[C] Calligraphic display
(D] Stroke-writing display

Technical Assistant 15 December, 2016
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33.

36.

a7,

38.

39.

WA CMYK G 3cUlel &l Siateir Scdeel sar §
[A] 2dd TaT
[B] 21 a1
[C] ahfewryerc T
[D] &sfer T

@I 2x=y+3 & AT &

[A] 2

(B] -2
[C] 1/2
(D] 1/3

{—5 2

[A] -6,-1
[B] 6,-1
[C] -6,1
[D] 6,1

lim—

¥z xs=Tx-10

[A] -3/8
[B] 0

[C] -1/8
D] 1/8

%meaﬁﬂﬁa@tiﬁﬁmé%ﬁm@m

[A] 42000
[B] 48000
[C] 23000
[D] 32000

2 ﬂlé?si‘f?f?»r&ﬂﬁaaﬂm%

=atdara;

.................. hiFed 8l gohd &

Technical Assistant
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35, The intersection of primary CMYK color produces
[A] White color
(B] Black color
[C] Cyan color
[D] Magenta color

36. Slope of line 2x=y+3 is
[A] 2
(B] -2
[C] 1/2
(D] 1/3

-5 2
37. FEigen Values of [ 2 _3] are
[A] -6,-1
[B] 6,-1
[C] -6,1
D] 6,1

Fy B+l

T - M (- i

38 y—sx-—Tx+1C
[A] -3/8
(B] 0
[C] -1/8
(D] 1/8

39. Atextboxcanholdasmanyas......... characters for a multi-line text
[A] 42000
[B] 48000
[C] 23000
[D] 32000

Technical Assistant 17 December, 2016 j
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40.  H WIET L & FT H & Hdr g
[A] TEefa
[B] &eaX
[C] aes
[D] #1g &gl
41, YeRIR{A® Serad & AT §
Al a &
(B] a Y@y
[C] a B
D] 39d#a 7 & &I 76
42.  rafaf@a § & sla-ar Arnys 3eadad 3 e YoR Wl § 2
[A] HHIET Feel
[B] 3iTcTehel hIaR
[C] gaFaeT
D] 39 & & &I T
43. U S39F8 wisd & ATE BEd
[A] 3RIET &a H Sealr T Sl &
[B] 3@ A T 3R RS deamni & g g §
[C] ueda® RS & &Y 918 var wear gl &
[D] [B] 3R [C] &=t
- . @1 1Y OFad 1T ¢
[A] feFraaT
[B] ferstest
[C) Tarae a1grs
D] geafdca

|l Technical Assistant 18
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41,

42.

43.

44.

Frame Control actsasa ..........
[A] method
(B] container
[C] event

[D] none

The scheme for hierarchical database is :

[A] a tree

[B] a graph

[C] a B-tree

[D] None of these

Field: Computer Science

INDIAN SPACE RESEARCH ORGANISATION

Poat Code: 23

Which of the following mediums provides the highest data rate ?

[A] Coaxial cable
[B] Optical Fibre
[C] Microwave
[D] None of these

The master list of an indexed file

[A]is sorted in ascending order

(B] contains only a list of keys and record numbers

[C] has a number assigned to each record

(D] both [B] and [C]

... refers to pixel spacing.
[A] Pixmap
[B] Resolution
[C] Pixel depth

(D] Persistence
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45, urgueg & U Hla-d woer R dgar ReeT 57
[A] ofE sorAfafer
[B] &1 &creifafey
[C] FA-2ATE Foreriater
[D] Taaeh-2TE werarafer

46. 4K #AAY &1 gl F AU haa e vsa 7 smaeadar gidr §
[A] 5 s
(B] 12 foew
[C] 8 ferca
[D] 10 facH

47.  fAeafai@a # & fhasr aeftos &9 @ @ 38 o o gear 22
[A] DRAM
[B] SRAM
(C] ROM
[D] Magnetic tap

48.  ROM & er yfase @wer T yRkar sgera 2
[A] ROM & &l e
[B] ROM YTaIaeT el
(C] ROM @&eeran
[D] ROM &Y =TS &¥=T

49. U f3hs @l & & AU fEae Toa-rely & smasgear gidr 27
[A] 10
B] 3
(C] 4
[D] 2

Technical Assistant 20 December, 20 16]
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Field: Computer Science \ Post Code: 23 A

45.  Which Algorithm is better choice for pipelining?
[A] Small Algorithm
[B] Has Algorithm
[C] Merge-Sort Algorithm
[D] Quick-Sort Algorithm

46. How many address bits are required to represent 4K memory?

[A] 5 bits
(B] 12 bits
[C] 8 bits

(D] 10 bits

47 Which of following cannot be accessed randomly?
[A] DRAM
[B] SRAM
[C] ROM
[D] Magnetic tap

48. The process of entering data into a ROM is called
[A] Burning in the ROM
[B] Programming the ROM
[C] Changing the ROM
[D] Charging the ROM
49.  How many flip flops are required to construct a decade counter?
[A]10
B] 3
[C] 4
D] 2

21 December, 2016



A

SET _ INDIAN SPACE RESEARCH ORGANISATION _ - { i
g | =wilizFa

Field: Computer Science Post Code: 2

50.

51,

52.

24,

54,

De-Morgan's &T W U&T ... & THFET ZATar &
[A] OR 31 @ur Twwefea OR 3
[B] NOR 4z dar sdeg AND d¢
[C] NOR 31 @2 NAND die
[D] NAND ¢ @2 NOT 312

I 5T H gHed & uRafda @wer arer ufger
[A] TaHIET
[B] HFeCcaIeaT
[C] feapisT
[D] $IZ &FeTaciy

sl &l faQy &3 F 3Furh g & oRaaT S F v 39T T
ST &
[A] e TRoreex
[B] &hIdeX
[C] EaSATcH S yfyaer
[D] A/D ufads

95 Fmw £ veufy aRenRE & s R
(A ()
(B] Feré()
(C] [A] 3R [B] et
D] swderer 3 & $ areh

%mfﬁi@aﬁﬁa%-mwmﬁam@amﬁ%?
[A] MOV
[B] ORG
[C] END
(D] (B) & (C)

Technical Assistant 22 December, 201%
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Field: Computer Science Post Code: 23 A

50. De Morgan’s first theorem shows the equivalence of
[A] OR gate and Exclusive OR gate.
[B] NOR gate and Bubbled AND gate.
[C] NOR gate and NAND gate
[D] NAND gate and NOT gate

51.  The circuit converting binary data into decimal is:
[A] Encoder
[B] Multiplexer
[C] Decoder
(D] Code converter

52 Data can be changed from special code to temporal code by using
[A] Shift registers
[B] Counters
[C] Combinational circuits

(D] A/D converters

53.  \Which method of the thread class should be defined?
[A] run()
[B] start()
[C] Both [A] and [B]
[D] None of these above

54 Which of the following are not a machine instructions?
[A] MOV
[B] ORG
[C] END
(D] (B) & (C)

L Technical Assistant 23 December, 2016
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55.

56.

al.

58.

99.

FeT ZdRT AANTAT AAL gh1E 1 Far Fger 82

[A] &3 3ifael A
[B] WramAse HAN
[C] ad3rer AART

[D] vaifaufea A=y

fAefaf@a 7 fFa FEFaT 37 wgaaa i 3maeasar gy &7
[A] fopen
(B] fclose
[C] fread
[D] s 3 & g

gAYy &I 11010 &7 ZerHeld THPaT &
[A] 26
[B] 36
[C] 16
[D] 23

A=Afaf@a 7 & #i9 @1 wrapper FoH A61 87
[A] dFX
[B] dlaey
(C] gert

[D] &R

STaT # char 2159 ARUAA & #TAdH AT &
[A] w0020
[B] “\wOOff'
[C] w0010’
[D] w0000’
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55. Memory unit accessed by content is called
[A] Read Only Memory
[B] Programmable Memory
[C] Virtual Memory
[D] Associative Memory

56. \Which of the following functions need a filename?
[A] fopen
[B] fclose
[C] fread
[D] none of these

57  The decimal equivalent of Binary number 11010 is:
[A] 26
[B] 36
[C] 16
(D] 23

58. Which of the following is not a wrapper class?
[A] Vector
[B] Character
[C) Boolean
(D] Integer

59 The minimum value of char type variable in JAVA s :
[A] \u0020'
[B] \UOOff’
[C] w0010’
[D] \w0000’
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60.  Smar & wediua s Rraw CanrT HHA §7?
[A] Ukt
(B] 3iestere
[C] et

[D] =Felrd

61. @ y=x+3 3N Waay y=5-x> & yfdedea fag &:
[A] (-2,1)
[B] (2,1)
[C] (-1.2)
D] (4,-1)

62.  Log, (1/128)°
(Al -7
(B] -14
[C] 14
(b1 7

63. Sar sRded A
[A] fordh aema & @t dres ysae @1 &
[B] forey aremer & wall Fies Wi g §
[C] forelr FHisier Fomre O s¥dlel aFard wred gidr &
[D) 3T & & FI§ =

64. &Y AFY F IR .o, i &
[A] Gest & T & IO 9
[B] Taa:my e 4
[C] 38 @7 WX, & Hed HAN W Forved & 0 g ghar §
[D] 3uderd @sfr
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60.  Multiple inheritance is possible in java by means of
[A] Package
[B] Object
[C] Interfaces
[D] Class

61. Intersection point of line y=x+3 & parabola y=5-x* is:
[A] (-2,1)
(B] (2.1)
(C](-1.2)
(D] (4,-1)

62. Logz (1/128)% is:
[Al-7
(B] -14
[C] 14
(D17

63. In Java Inheritance
[A] all fields of a class are private
[B] all fields of a class are protected
[C] a new class is derived from an existing class

[D] none of these above

64. The idea of cache memory is based
[A] on the property of locality of reference
[B] on the heuristic 90-10 rule
[C] on the fact that references generally tend to cluster
[D] all of the above
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66.

67.

68.

69.

[A] 450
[B] 255
[C] 355
(D] 500

[A] 65535
(B] 32767
[C] 65535
(D] -32767

&& T Il 3T
[A] & TEACHS ATl HT TAT T &
[B] &1 €&AIcHE HIT ¢ §3 TR TATSIT Far &
[C] & gfeast A= & qolelt &l &
[D] 39T F & F1$ AL

Al ¥ H 3e1 uY alA-Ar H9eT e Ao HTAT §7?

[A] TSR HOLET
[B] facarsst 3itadex
[C] AR 3iTuex
(D] 394 3 3 FS E

oY ANsieh-cadeholeh Ueh S I QUT Alefdh Ud .............. & GAer @
fastsa fhar a1 gehar §

[A] OR IrcH

[B] XOR rea

[C] NOR dre&

(D] NAND e
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65. |n Visual Basic, a variable name cannot be more than ......... characters.
[A) 450
[B] 255
[C] 355
[D] 500

66.  Maximum value of an unsigned integer is:

[A] 65535
(B] 32767
[C] -65535
(D] -32767

67. The && and Il operators

[A] compare two numeric values

[B] combine two numeric values short hand operator
[C] compare two hoolean values

[D] None of these

68.  Which operators perform operations on data in pinary level?

[A] Logical operator

[B] Bitwise operator

[C] Additional operators
[D] None of above

69.  An adder-subtractor single unit can be designed using full adder and

[A] OR gates
[B] XOR gates
[C] NOR gates
[D] NAND gates
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70. ﬁmﬁﬁﬁwﬁmﬁw%v-"aﬁﬁéﬁ%rmim
TuTerAt & FOR R B I veer A-UHTA B, SWH IUNGT ear ¥ R
I T ggar B

[A] 37TeFéY

(B] &=

[C] anfdiehr
[D] sigarsT ag

1. ITARd #18 &1 dmITyT Far gl
structabe{int a; int b;} v[3], «p;
main ()

{
p=v;
p->a=3;
p->b=p->a;
printf("\n%d\t%d", v[0].a, v[0].b);
}
[A] 3 4
B] 4 3
[C] #I f aTRaIST 77
O] 33

72, farAfaf@a wee s RuiRa axar 2
Intfn(int a, int b)
{
if (b= =0) return 0;
if (b= =1) return a;
return a+fn(a, b-1);

}

[A] a+b e a 3 b qorie [C] a+b fo=m# a 31X b gofie &

[B] a+b for@3l a 3R b d-HomeAs [D] asb 5@ a 3 b oM
ol & quifes §
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70, |dentify the following data structure - “If a region is uniform, store its properties. If a
region is non-uniform, subdivide it and repeat the process.”
[A] Octree
[B] List
[C) Table
(D] Polygon surface
71, What will be the output of the following code?
structabelint a; int b;} v[3], "pi
main ()
{
p=v,
p->a=3,
p->b=p->a;
printf(\n%d\t%d", v[0].a, v[0].b);
)
[A]34
B]4 3
[C] any garbage value
D]33

72.  What s the following function determining?
Intfn(int a, int b)
{
if (b= =0) return O;
if (b==1) return &
return a+fn(a, b-1);

}

[A] a+b where a and b are integers [C] a*b where a and h are integers
[B] a+b where a and b are non-negative  [D] a*h where a and b are non-negative

integers integers
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73

74,

75.

76.

7.
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farafafaa arer fhaer dar aear &2
for (x=0;x=3;x++);

[A] ez

[B] =g

[C] wéa

[D] @ a7l

I-3cast Breer &1 32T &
[A] Tergs
[B] UeTHTEY
[C] 5 Tt cga
[D] carsAT et

e TS Ay FRrRIT 7 0T A s 12T W RN ] e el ¥, ol AR R L
[A] cos A sin A-sin A cos A
[B] cos A - sin A + sin A cos A
[C] sin A cos A
[D] ¥ a7eT

(-2.53.4) Ud (-4.4 &5.5) g3 & dra GRS
[A] 9.1
[B] 8.35
[C] 0.91
D] 7.5

U IIHS 1 HAGETH T FS THA, oo, qalell razge ¢
[A] T FATAICR I3 &1 vl He
(B] AT FIAI {3 &1 Uk AT 3R AR 3131 &1 v de
[C]Wrﬁmﬁﬂwﬂzmmmajmﬁwwﬁa
[D] AR Han3f & al ¥
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73, How long the following loop runs?
for (x=0;x=3;x++);
[A] Three times
[B] Four times
[C] Forever
[D] Never
74 Write an example for non-emissive displays
[A]LED
[B] LCD
[C] Gas discharge tube
(D] Plasma panel

tion

75.  If an object is rotated through an angle A in clockwise direction, the rota

matrix R= v
[A] cos A sin A-sin A cos A
[B]cos A -sin A+ sin A cas A
[C] sin A cos A
[D] None

76. Distance between the points (-2.5,3.4) & (-4.4 &-55) is:
[A]1 9.1
[B] 8.35
[C] 0.91
D] 7.5

77. When proving thata quadrilateral is a trapezoid, it is necessary to show

[A] Only one set of parallel sides

[B] Only one set of parallel sides and one
e set of congruent sides

set of nonparallel sides

[C] One set of parallel sides and on

[D] Two sets of parallel sides
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78. TR § RO & g2 A W I0F PRew ST i e
HEATA 7
[A] weRid
[B] RAEw
[C] BrRrEREY
[D] sdsw

79. TaS3er 0w A1 Wi BT S vadeL gar ¥

frm

(Al
[B]
(C]
(O]

.vbp
.vbs
.cls

80. 2erre diFw Y Rwiee weaT .. 2
[A] 13
(B] @t
[C] TeFerh
(D] el
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78. The phenomenon of having a continuous glow of a beam on the screen

even after it is removed is called as
[A] Fluorescence
[B] Persistence
[C] Phosphaorescence
[D] Incandescence

79.  \isual Basic maintains a project file with the extension... ... ... oee
[A] .frm
(B] .vbp
[C] .vbs
[D] .cls

80 The default event of a text box is.
[A] load
[B] change
[C] click
[D] gotfocus
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